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Slope from a Table
Warm-UpAgenda

Warm-Up
HW Check
Notes 

(Slope Book)
Homework

Turn in bathroom 
passes!!! Make sure 
your name is legible.

Given the following graph, find the slope.

Fill in a table 
with three 

perfect points 
from the graph

Is there a way to get 
the slope from the table 
instead of the graph? 
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Congratulations 2nd period!!
Winners of HW Turn-In Challenge 2nd six weeks

2nd 6 weeks

2nd - 82.2%

3rd - 76.2%

4th - 80.6%

5th - 78.4%

7th - 71.0%

1st 6 weeks

2nd - 84%

3rd - 77%

4th - 87%

5th - 84%

7th - 56%
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1. The total cost of an item at a store is the price of the item plus 6.5% 
sales tax.  If c, the total cost of the item, is a function of x, the price of 
the item, 
which function models this situation?

A.   

B.  

C.  

D.   

2. A long distance telephone company 
charges $4.95 per month and $0.07 per 
minute for phone calls.  What is the 
dependent variable quantity in this 
situation?

A The cost per minute for a long distance 
call

B The total cost for a 10­minute long 
distance call

C The total monthly charge for long 
distance service

D The number of minutes of a long 
distance call

3. A baseball team played a total of 162 games last 
season.  The number of games the team lost, l, and 
the number of games the team won, w, are 
represented by the formula below, l = 162 – w.  What 
quantity does the dependent variable represent?

A. Number of total games

B. Number of games lost

C. Number of games won

D. Number of people on the team
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